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‘ E2 TR F—x Vb 45° OIJLnLi ¥4z Eox —%E %
H4 % @® ey )] 45" L (=v7n)
3/ 360 560 440 800 3/, 100 570
1 600 980 620 1,250 1 100 700
14 1,080 1,420 870 2,410 11/4 100 940
11/ 1,270 1,600 1,020 2,810 11/> 100 1,120
2 1,950 2,550 1,740 4,090 2 150 1,860
21/ 3,980 5,470 3,010 5,120 21/ 200 2,800
3 5,820 7,860 3,930 7,530 3 200 3,280
4 8,690 12,920 6,770 11,540 4 200 4,840
1X3/4 840 990 730 GHA 2 /M)
11/4X3/4 1,570
11/:X1 1,480 1,570 1,080
11/2X3/4 2,070 1,430
1/:2X1 2,080 1,430
1Y/2X1Y4 1,970 2,080 1,430
2X3/4 3,370
2X1 3,370
2X11/4 3,250
2X11/; 3,000 3,250 1,970
21/2X2 7,320 6,830 3,660
3X2 9,060 9,110 5,260
3X21/> 9,700 9,110 5,260
4X2 15,150
4X 21/ 8,480
4X3 16,480 15,150 8,480 GRET 11/ H)
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THE2 + A X fili % AB(E/ r—2)
TR (L) 65A 12,790 5
TR (L) 80A 21,280 3
TR (L) 100A 37,150 2
IR (L) 125A 79,030 1
EETLER RL) 100A X 65A 40,140 2
vy b (S 65A 10,300 6
vy b (S 80A 15,680 4
vy b (S 100A 21,210 2
Vg b (S 125A 62,340 1
HEEV Ty b (RS) 100A X 65A 19,820 3
F—Z (D) 100A 62,090 1
MEEF — 2 (RT) 100A X 25A 70,000 2
45° T 65A 20,680 5
45° TL 100A 46,780 2
45° TL R 125A 109,310 1
- . 80A X 25A 34,160 4
T =2 100A X 65A 72,750 2
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